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Unit wise Assignment
                                                               
       ( Semester I/II)
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	:
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	Sub: Programming for Problem Solving 
	:
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	Unit-1

	CO1:  Understand concept of low-level and high-level languages, primary and secondary      memory. Represent algorithm through flowchart and pseudo code for problem solving.




Section A
   Multiple Choice Questions:

1. The brain of any computer system is
A. ALU




B. Memory


C. CPU




D. Control unit
2.  I/O is short form of ___________.
A. Incoming / Outgoing


B. Inner / Outer


C. Input / Output



D. Income / Outcome
3. What do you call the translator which takes assembly language program as input & produce machine language code as output?
A.  Compiler
B.  Interpreter
C.  Debugger
D.  Assembler 
4. What is a compiler?
A.  A compiler does a conversion line by line as the program is run
B.  A compiler converts the whole of a higher level program code into machine code in one step
C.  A compiler is a general purpose language providing very efficient execution
D.  None of the above

5. What is an interpreter?
A.  An interpreter does the conversion line by line as the program is run
B.  An interpreter is the representation of the system being designed
C.  An interpreter is a general purpose language providing very efficient execution
D.  None of the above
6. When a key is pressed on the keyboard, which standard is used for converting the keystroke into the corresponding bits?
A.  ANSI
B.  ASCII
C.  EBCDIC
D.  ISO

7. A Pixel is __________
A.  A computer program that draws picture
B.  A picture stored in secondary memory
C.  The smallest resolvable part of a picture
D.  None of these

8. Which device is used as the standard pointing device in a Graphical User Environment?
A.  Keyboard
B.  Mouse
C.  Joystick
D.  Track ball

9. Which of the following is not an output device?
A.  Scanner
B.  Printer
C.  Flat Screen
D.  Touch Screen

10. Which of the following memories must be refreshed many times per second?
A Static RAM




B Dynamic RAM

C EPROM




D ROM
11. 1 Gigabyte (GB) is equal to
A 1024 bytes




B 1024 KB

C 1024 MB




D 1024 TB
12. 31-A program that allows us to do specific tasks is:
A. Application software


B. System Software

C. Windows 2000



D. Windows Xp

13. WYSIWYG is an acronym for what?

A. What You Saw Is What You Got

B. What You See Is What You Get

C. What You Seen Is What You Gotten

D. What You Sow Is What You Get

14. Which of the following devices have a limitation that we can only store information to it but cannot erase or modify it?
A.  Floppy Disk
B.  Hard Disk
C.  Tape Drive
D.  CDROM
15. Which of the following storage devices can store maximum amount of data?
A.  Floppy Disk
B.  Hard Disk
C.  Compact Disk
D.  Magneto Optic Disk
16. Memory is made up of
A.  Set of wires
B.  Set of circuits
C.  Large number of cells
D.  All of these
17. Operating system, editors, and debuggers comes under?
A. System Software
B. Application Software
C. Utilities
D. None of the above
18. Which programming languages are classified as low level languages?
A. Basic, COBOL, FORTRAN
B. Prolog 2, Expert Systems
C. Knowledge based Systems
D. Assembly Languages
19. A normal CD-ROM usually can store up to __________data?
A. 680 KB
B. 680 Bytes
C. 680 MB
D. 680 GB
20. The acronym of WORM in a Computer System is
A. Write Only Read Only
B. Write Once Read Many
C. Write Only Read Memory
D. Write Once Read Memory

Section B

Short Answer type Questions:

21. Explain volatile memory. Give example
22. Give advantage of assembly language over high level language.
23. Explain Secondary memory with example.
24. Explain Pseudo Code in Brief.
25. Define Algorithm

26. Difference between low level and high level programming language.
27. Difference between Primary and Secondary memory 
28. Difference between RAM and ROM.
29. Write the difference between High-Level language & Low- Level language.
30. Compare algorithm and flowchart         

Section C
Answer the following in detail:

31. Explain stored program architecture of computers.

	32. Distinguish between compiler and interpreter.


33. Distinguish between High-level, Assembly and Machine Language
34. Write characteristics of algorithms

35. Write advantages and disadvantages of algorithm

36. Write advantages and disadvantages of Flowchart.

         
    
  
37.  Draw a flowchart to check whether a number is odd or even.  
38. Explain Von Neumann Architecture or Stored program Architecture of computers.              

    
39. Explain the algorithm to find the largest of three numbers.    
40. Explain the block diagram of computer. Also explain its different parts.  
41.  Draw a flowchart to check whether a number is odd or even.
42.  Explain the block diagram of computer. Also explain its different parts.
43. Explain various symbols used in flowchart

44. Write an algorithm and draw flowchart to find whether given number is even or odd

45. Write an algorithm and draw flowchart to find maximum numbers from given 2 numbers

46. Write an algorithm and draw flowchart to print 1 to N numbers

47. Write an algorithm and draw flowchart to swap value of 2 variables

48. Write an algorithm and draw flowchart to print odd numbers between 1 to N

49. Write the difference between random access and sequential access method

50. Write pseudo code that reads two numbers and multiplies them together and print out their products

Unit wise Assignment
                                                               
( Semester I)

	Unit-II

	CO2:   Represent and convert numbers & alphabets in various notations.


Section A
   Multiple Choice Questions:

1. The number 43 in 2's complement representation is      
(a) 01010101
(b) 11010101
(c) 00101011
(d) 10101011

2. The 2's complement representation of the decimal value -15
   
(a) 1111     (b) 11111       (c) 111111      (d) 10001

3. The decimal value 0.25


 (a) is equivalent to binary 0.1
(b) is equivalent to binary 0.01
(c) is equivalent to binary 0.00111
(d) cannot be represented precisely in binary


4.  Assuming all numbers are in 2’s complement representation, which of the following numbers is divisible by 1111 1011?




5.  (a) 11100111
(b) 11100100
(c) 11010111
(d) 11011011


6. Given √(224)r= (13)r

The value of the radix r is:
(a) 10         (b) 8          (c) 5        (d) 6


7.  Let A = 1111 1010 and B = 0000 1010 be two 8-bit 2's complement numbers. Their product in 2's complement is:

 (a) 1100 0100
(b) 1001 1100
(c) 1010 0101
(d) 1101 0101
8.  The 2's complement representation of (-539)10 in hexadecimal is

 (a) ABE             (b) DBC          (c) DE5          (d) 9E7
9.  P is a 16-bit signed integer. The 2’s complement representation of P is (F87B)16. The 2’s complement representation of 8 x P is 
(a) (C3D8)16        (b) (187B)16         (c) (F878)16         (d) (987B)16
10.  The smallest integer that can be represented by an 8-bit number in 2’s complement form is  
(a) -256            (b) -128         (c) -127            (d) 0
11. In 16-bit 2's complement representation, the decimal number -28 is :

(a) 000 0000 1110 0100

(b) 0000 0000 1110 0100

(c) 1111 1111 1110 0100

(d) 1111 1111 0001 1100

12. Convert the binary number 1001.0010 to decimal.
(a) 12.5




(b) 125



(c) 9.125




(d) 90.125
13. Base 10 refers to which number system?
(a)   Octal
         


(b)   Decimal

(c)   binary coded decimal

(d)   Hexadecimal

14. Convert the binary number 1011010 to hexadecimal.
(a)  5F




(b) 5B


(c) 3. 5A



(d)  5CC

15. The binary equivalent of hexadecimal 70 is ________. 
(a) 00000111

(b) 01111000

(c) 01110000

(d) 11100000
16. How many unique numeric symbols are used in the decimal number system? 
(a) Unlimited

(b)  nine  

(c) One

(d) Ten
17. When a key is pressed on the keyboard, which standard is used for converting the keystroke into the corresponding bits?
A.  ANSI
B.  ASCII
C.  EBCDIC
D.  ISO
18. Which number system is usually followed in a typical 32-bit computer?
A.  2
B.  10     
C.  16
D.  32
19. In computing and electronic systems BCD is abbreviation of
A. Binary Coded Decimal
B. Binary Coded Digit
C. Bit Coded Decimal
D. Bit Coded Digit
20. The value of radix in binary number system is _____________
a) 2
b) 8
c) 10
d) 1
21. A bit in a computer terminology means either 0 or 1.
a) True
b) False

Section B

Short Answer type Questions:

22. Find 2’s complement of binary number 011101.
23. Find the complement of binary number 01000.
24. Explain in brief ASCII representation.    

25. Explain in brief gray code representation.
26. Explain in brief EBCDIC code representation.
27. Explain in brief Unicode representation.
28. Explain octal numbers
29. Explain hexadecimal numbers.
30. Explain decimal numbers 
31. Explain binary numbers
Section C
Answer the following in detail:

Convert the following(31-41):

32. (651.24)8=(?)2
33. (10110001101)2=(?)10
34. (9896)10=(?)16
35. (5676)10=(?)8

36. (3987)10 = (?)16




37. (101101010)2= (?)10
38. (101101.11)2 = (?)10 =(?)8 = (?)16        

39. (342)8=(?)10= (?)2 =(?)16

40. (1101101111110101)2=()16
41. (ABC7)16=()2

42.  (743.91)10=(?)8
Perform the following(42-49):

43. (89D)16 + (259)10
44. (263)8 +(100100101)2
45. (10101)2 –(01110)2

46. (1101.101)2=(?)10
47.  (A1B2.6C)16=(?)10
48. (10111010)2+(10101)2
49. (1011011)2-(110101)2
50. Multiply (101)2 with (011)2 
51. What is the biggest binary number you can write with 5 bits?

Unit wise Assignment
                                                               
( Semester I/II)

	Course
	:
	B. Tech.
	Sub: Programming for Problem Solving 


	:
	Code:1FY3-06

Code:2FY3-06


	Unit-III

	CO3:   Analyze and implement decision making statements and looping.


Section A
Multiple Choice Questions:

1) Find the output of C Program.?
	#include <stdio.h>

void main()

{

if(!printf(""))

printf("Okkk");

else

printf("Hiii");

}


A.Hiii B.Error C.None D.Okkk

2) In C, what are the various types of real data type (floating point data type)?

a. Float, long double
b. long double, short int
c. float, double, long double
d. short int, double, long int, float


3) It is necessary to declare the type of a function in the calling program if the function

a. Returns an integer
b. Returns a non-integer value
c. Is not defined in the same file
d. None of these
4) Solve  the following code ?

	#include<stdio.h>

main() 
{int x = 5;

if(x=5)

{


if(x=5) break;

printf("Hello");

} 

printf("Hi");

} 


 A.Hi B.HelloHi C.Compiler warning D.Compile error

5) Find out the output of C Program.?

#include <stdio.h>

int main()

{

int i = 3;

printf(d", (++i)++;

return 0;

}

A.3 B.4 C.5 D.Compile-time error

6) Select the maximum number of dimensions an array in C may have?

	a. 
	Two

	b. 
	Eight

	c. 
	Twenty

	d. D.
	Theoretically no limit. The only practical limits are memory size and compilers


7) If S is an array of 80 characters, then the value assigned to S through the statement scanf("%s",S) with input 12345 would be

	a. 
	a."12345"

	b. 
	b.nothing since 12345 is an integer

	c. 
	c.S is an illegal name for string

	d. 
	d.%s cannot be used for reading in values of S

8) Which of the following are themselves a collection of different data types? 

A. String     B. Structure  C. Char    D. All of the mentioned

9) User-defined data type can be derived by___________. 

A. struct  B. Enum   C. Typedef   D. All of the mentioned

10) What will be the output of the C program? 

void main()

{

struct bitfields {

int bits_1: 2;

int bits_2: 9;

int bits_3: 6;

int bits_4: 1;

}bit;

printf("%d", sizeof(bit));

}

A. 2 B. 3  C. 4   D. 0

11) Where is a file temporarily stored before read or write operation in C language.? 
A.Notepad B) RAM C) Hard disk D) Buffer

12) Which  keyword used to declare a C file pointer.? 
A. file B. FILE C. FILEFP    D. filefp

13) Choose a correct statement about C structures. 
i. Structure elements can be initialized at the time of declaration.

ii. Structure members can not be initialized at the time of declaration

iii. Only integer members of structure can be initialized at the time of declaraion

iv. None of the above

14)  Point out the error, if any in the for loop.

#include<stdio.h>

int main()

{

int i=1;

for(;;)

{

printf("%d\n", i++);

if(i>10)

break;

}

return 0;

}

A .There should be a condition in the for loop

B. The two semicolons should be dropped

C. The for loop should be replaced with while loop.

D. None

15) What will be the output of the program?

#include<stdio.h>

int main()

{

int x, y, z;

x=y=z=1;

z = ++x || ++y && ++z;

printf("x=%d, y=%d, z=%d\n", x, y, z);

return 0;

}

A.x=2, y=1, z=1                       C. x=2, y=2, z=1

B.x=1, y=2, z=1                       D. x=2, y=2, z=2

16)  Array is a collection of 

A. Identical data objects               C. Both A and B  

B. Different data objects               D. None of these

17)  Loop is a mechanism to execute a set of statements a number of times(T/F)

A.True                 B. False

18) Statement inside a do while loop will be executed atleast once (T/F)

A. True              B. False

19) What is the output of the C code?(Ignore syntax error)

void main()

{

int i=0;

do

{

i++;

if(i==2)

continue;

printf(“In while loop”);

} while(i<2);

printf(“%d\n”,i);

getch();

}

A.In while loop 2

B.In while loop In while loop 3

C.In while loop 3

D.Infinite loop

20) What is the output of this C code? (Ignore syntax error)

#include<stdio.h>

void main()

{

int x=0;

int *ptr=&x;

printf(“%d\n”, *ptr);

}

A. Address of x              B. Junk value

C.  0                                D.Run time error


Section B

Short Answer type Questions:

21) Explain Ternary Operators.  Write a C program to find greatest among 3 numbers using ternary operator.


 
22) List and explain loop control statements in C.
23)  Write a program to check whether the given no is vowel or not.
24) Explain C-Tokens  in Brief.

25) Give the Syntax of Switch- Case Statement.

26) Write a c program to reverse an inputted integer number, e.g. if input is;2375 then output is 5732.

27) Write a C program to find the product of 4 integers entered by a user. If user enters 0 skip it

28) Differentiate between entry and exit loops.

29) Write a program that asks user an arithmetic operator('+','-','*' or '/') and two operands and perform the corresponding calculation on the operands.

30) Write a program GCD Using while loop and if...else Statement.
Section C
Answer the following in detail:

31)Write a program to compute sin x for given x.

sin x = x - x3/3! + x5/5! - x7/7! + x9/9! ........

32)Explain following with suitable example:

a. Basic Data types

b. Scope of variable

c. Type casting

d. Identifiers

33)Write the programmes to print following pattern using loop:

*

**

***

****

And

1

01

101

0101

34)Write a C program to multiply two matrices. 

35)Explain the concept of  identifier and also write the rules for identifier declaration in C.

36)Explain Array of structure with the help of suitable program. Also describe structure within structure with an example.

37)Write a program which explain pointers in 1 dimensional array.

38)Write a program in C language to check whether a given character is vowel or not.

39)Write a C Program to print the table of any given number N inputted by the user.

40)Explain the precedence of operator? Describe the arithmetic and logical operator available in c Language in detail with example.

41)Write a program in C to Store information of n students using structures. 

42)Write a program in C to show that a simple switch case statement can be used instead Of multiple if statement. How switch case works without break statement explain.

         
43) Write a program to check whether the input number is prime number or not.
         

44)What are loop control structures. Write a suitable C program to explain their working   

45) Write a C Program to find the factorial of a number given by the user
46) Develop a C Program to find the sum of series 1+1/2+1/3+1/4+…….1/n.

47) Develop a C Program to print the table of a given number.


48) Explain the different decision making statements in C with examples.    
49) Develop a C Program to input a year and check whether it is leap year or not.


50) Write a C program to reverse an inputted integer number, e.g. if input is 2356 then output is 6532.

Unit wise Assignment
                                                               
( Semester I/II)

	Course
	:
	B. Tech.
	Sub: Programming for Problem Solving 
	:
	Code:1FY3-06

Code:2FY3-06




	Unit-III

	CO4: Apply array, function, recursion, structure, pointers, memory allocation and data handling through files in ‘C’ Programming Language.


Section A
Multiple Choice Questions:

1.  What will the function rewind() do?

A.
Reposition the file pointer to a character reverse
B.
Reposition the file pointer stream to end of file

C.
Reposition the file pointer to beginning of that line
D.
Reposition the file pointer to begining of file

2.  Identify the invalid constant used in fseek() function as  reference.

A
SEEK_CUR
B.
SEEK_SET

C.
SEEK_BEG
D.
SEEK_END

3.  To design an ellipse which header file has been used?

A.
Graphics.h
B.
Stdlib.h

C.
Stdio.h
            D.
Conio.h

4. The first and second arguments of fopen are?

A. A character string containing the name of the file & the second argument is the mode.


B. A character string containing the name of the user & the second argument is the mode.

C. A character string containing file pointer & the second argument is the mode.

D. None of the mentioned
5.Analyze the error would the following function give on compilation ?

	f(int a,int b)
{
int a;
a = 20;
return a;
}




	A.
	Missing parentheses in return statement

	B.
	Function should be define as int f(int a,int b)

	C.
	Re declaration of a

	D.
	No error



6.Which of the following is used in mode string to open the file in binary mode?

A.  a
B.  b
C.  B
D. bin
7. Which keyword is used to declare a C file pointer?
A.  File

B. FILE

C. FILEFP

D.  filefp

8.Find  the output of this C code?
	int i = 10;
void *p = int main()
{
&i;
printf("%d\n", (int)*p);
return 0;
}


A. Compile time error

B. Segmentation fault/runtime crash

C. 10


D. Undefined behaviour

9. Select  the need for closing a file in C language.?
A. fclose(fp) closes a file to release the memory used in opening a file.
B. Closing a file clears Buffer contents from RAM or memory.
C. Unclosed files occupy memory and PC hangs when on low memory.
D. All the above


10.It is necessary to declare the type of a function in the calling program if the function

	A.
	Returns an integer

	B.
	Returns a non-integer value

	C.
	Is not defined in the same file

	D.
	None of these


11.The declaration

	union id

{
char color[12];
int size;

}shirt,Jeans;
denotes shirt and Jeans are variable of type id and


	A.
	Each can have a value of color and size

	B.
	Each can represent either a 12-character color or an integer size at a time

	C.
	Shirt and Jeans are same as struct variables

	D.
	Variable shirt and Jeans cannot be used simultaneously in a statement


12.Most appropriate sentence to describe unions is

	A.
	Union are like structures

	B.
	Union contain members of different data types which share the same storage area in memory

	C.
	Union are less frequently used in program

	D.
	Union are used for set operations

13.What is the similarity between a structure and union?

A.All of them let you define new values
B.All of them let you define new data types

C.All of them let you define new pointers
D.All of them let you define new structures

14.Which of the following true about FILE *fp

A.FILE is a keyword in C for representing files and fp is a variable of FILE type.

B.FILE is a structure and fp is a pointer to the structure of FILE typ

C.FILE is a stream


D.FILE is a buffered stream

15.struct node 

{ 

int i; 

float j; 

}; 

struct node *s[10];

The above C declaration define 's' to be

A An array, each element of which is a pointer to a structure of type node


B.A structure of 2 fields, each field being a pointer to an array of 10 elements

C.A structure of 3 fields: an integer, a float, and an array of 10 elements


D.An array, each element of which is a structure of type node

16.struct { 

short s[5];

union { 

float y; 

long z; 

}u; 

} t;

Assume that objects of the type short, float and long occupy 2 bytes, 4 bytes and 8 bytes, respectively. The memory requirement for variable t, ignoring alignment considerations, is

A.
22 bytes
B.
14 bytes

C.
18 bytes
D.  
None of these

17.Consider the following declaration of a ‘two-dimensional array in C:

char a[100][100];

Assuming that the main memory is byte-addressable and that the array is stored starting from memory address 0, the address of a[40][50] is
(a) 4040       (b) 4050       (c) 5040        (d) 5050

18. Use of functions

A. Helps to avoid repeating a set of statements many times.

B. Enhances the logical clarity of the program.

C. Helps to avoid repeated programming across programs.

D. Makes the debugging task easier
.
E.All of the above

19. The default parameter passing mechanism is

A.call by value  B.call by reference      C.call by value result     D.None of these.

20. What is function?

A. Function is a block of statements that perform some specific task.

B. Function is the fundamental modular unit. A function is usually designed to perform a specific task.

C. Function is a block of code that performs a specific task. It has a name and it is reusable.

D. All of the above




Section B

Short Answer type Questions:

21.Where is a file temporarily stored before read or write operation in C language?
22.Describe the reason for using pointers in a C program? 
23.Specify the 2 library functions to dynamically allocate memory?

24.What is function? Explain with example.




25.Write difference between Structure and Union with example.


26.WAP to swap two numbers using function.




27.What is Recursive function? Give an example.                               

28.What is File Handling? Explain any two operations used in it.     


29.WAP to show information(Name, ID, Address & Contact no.) of 2 employee using Structure. 

30.  Writer short note on : 

A. Return statement  B. Dynamic memory allocation

Section C
Answer the following in detail:

31.  Explain the concept of file handling and various functions of file handling used in C language.

32.Writer short note on :

B. Return statement

C. Dynamic memory allocation?

D. Explain typedef

E. Recursion 

33. Define a pointer. Write a program to swap two integer variables using pointer.

34. Explain the function and different technique of parameter passing.

35. Write a program to define structure with tag state with fields state name, number of districts, total population. Read and display the data.

36. Discuss the difference between call by value and call by reference parameter passing technique with suitable example.

37. Describe the function available in C.

38.Write a program in C language for swapping of two numbers using Pointers.

39.Write a program to define structure with tag state with fields – state name, no. of districts and total population. Read & Display the data.

40.Discuss the difference between call by value & call by reference parameter passing techniques with suitable example.
41.  What is Recursive function? Give an example.                               


42. What is File Handling? Explain any two operations used in it.     


43.  WAP to show information(Name, ID, Address & Contact no.) of 2 employee using Structure.       
44. Explain the representation of two- dimensional array with example.



45.Write a C Program to input n element of an array and find the maximum number.

46.Explain Array of structure with the help of suitable program.
47. Write a C Program to show a function with arguments but no return values.



48. Define a structure data type called time_struct containing 3 members called hour, minute & seconds. Develop a C Program that would assign values of individual members and display the time in the form 16:40:30.










49. Develop a C Program to find the sum of two matrices given by the user.

48. Write a C Program to show a function with no arguments and no return values.

49. Develop a C Program to find the transpose of a matrix given by the user.
50.   Write a C program using using function to display first n numbers of a Fibonacci series                                                                              
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